
Lakshmi Envirotech Systems Pvt Ltd
Jawan Baler Price List(2023-2024)

1 5AGB30809 Square Flange 5AGB30809 ALL MODEL

S.No Din No Item Name Image Drawing No Model

1

9

7

8

4

5

6

3

2

11

14

13

15

16

12

10

9

7

8

4

5

6

3

2

11

14

15

13

16

12

10

5AGV30864 Rope Stand

5AGV30200 Fixed Frame

5AGV35200 Fixed Frame

5AGV25200 Fixed Frame

4AGBLP0014 Top Link Pin

4AGBS0010 Pin For Pulling

5AGB30826 Stand For Park

04CW004 Castor Wheel Front

5AGV30812 Bracket Lh For Pulling

5AGV35812 Bracket Lh For Pulling

5AGV35864-1 Washer Rope Stand

5AGV35811 Bracket Rh For Pulling

5AGV30811 Bracket Rh For Pulling

4AGB10018 Flange Swing Bracket

5AGB30826W Wheel Stand Bracket

04CW 004

5AGV30812

5AGV35812

5AGV30864

5AGV35811

5AGV30811

5AGB30826

5AGV30200

5AGV35200

5AGV25200

5AGB30826

4AGB10018

4AGBS0010

4AGBLP0014

5AGV35864-1

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

JAWAN 266
3.5FT

JAWAN 1220 
3FT

JAWAN 1220 
3FT JAWAN 

122

JAWAN 266 
3.5FT

JAWAN 1220 
3FT JAWAN 

122

ALL MODEL

JAWAN 1220 

3FT

JAWAN 266 
3.5FT

JAWAN 122 
2.5FT



Lakshmi Envirotech Systems Pvt Ltd
Jawan Baler Price List(2023-2024)

S.No Din No Item Name Image Drawing No Model

25

26

17

20

18

28

19

21

22

23

24

29

31

32

27

30

29

30

19

24

32

20

21

25

26

27

28

33

35

36

31

34

4AGBH0034 Hex Nut M8

4AGBH0036 Hex Nut M12

5AGB30828 Swing Bracket

5AGB35828 Swing Bracket

5AGB25828 Swing Bracket

4AGBPH002 Hex Nut M22X1.5

4AGBH0008 Hex Bolt M8x55 HT

4AGBH0023 Hex Bolt M12x30 FT

4AGBH0028 Hex Bolt M12x60 HT

4AGBFH015 Hex Bolt M16x80 HT

4AGBH075 Sq Neck Bolt M8x25 FT

4AGBH0039 Hex Nylon Lock Nut M10

4AGBH0042 Hex Nylon Lock Nut M12

4AGBFH003 Flange Hex Bolt M8x25 FT

4AGBH0059 S Head Cap Screw M12x35 FT

4AGBH075

5AGB30828

5AGB35828

5AGB25828

4AGBH0039

4AGBH0042

4AGBH0036

4AGBH0034

4AGBH0059

4AGBH0089

4AGBH0008

4AGBH0028

4AGBH0023

4AGBFH015

4AGBFH003

4AGBPH002

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

JAWAN 1220
3FT

JAWAN 266 
3.5FT

JAWAN122 
2.5FT

4AGBH0089 S Head CSK Screw 
M10x30 FT



Lakshmi Envirotech Systems Pvt Ltd
Jawan Baler Price List(2023-2024)

S.No Din No Item Name Image Drawing No Model

33

46

35

38

36

37

39

34

40

44

45

47

41

42

43

48

37

49

41

38

42

47

48

39

40

43

50

44

45

46

51

37A

4AGBLP002 Linch Pin 8x42

4AGBLP004 Linch Pin 6X42

4AGBLP003 Linch Pin 11X45

4AGBH0064 Spring Washer M8

4AGBH0148 Hex Bolt M6x16 FT

5AGV35867 Holder For Soleniod

4AGBH0062 Spring Washer M12

4AGBH0162 Spring Washer M22

4AGBH0043A Hex Nylon Lock Nut M16x1.5

4AGBEL001 Dual Head Light Relay

4AGBEL002 Horn 70DIA 2Holes 12V 105dp

4AGBH0074 Plain Washer M10x21x3

4AGBH0132 Plain Washer M12x22x3

4AGBH0076 Plain Washer M8x15x1.5

4AGBH0043 Hex Nylon Lock Nut M16x2

4AGBS0008 Grease Nipple M6 Straight

5AGV35867

4AGBLP004

4AGBLP003

4AGBEL001

4AGBS0008

4AGBLP002

4AGBEL002

4AGBH0043

4AGBH0148

4AGBH0076

4AGBH0074

4AGBH0132

4AGBH0064

4AGBH0062

4AGBH0162

4AGBH0043A

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL



Lakshmi Envirotech Systems Pvt Ltd
Jawan Baler Price List(2023-2024)

S.No Din No Item Name Image Drawing No Model

54

57

55

51

58

59

56

53

52

49

50

64

60

61

62

63

57

60

61

63

58

54

59

56

55

52

53

71

67

68

69

70

4AGBH0034 Hex Nut M8

5AGV25859 Cover Mount

5AGV30859 Cover Mount

5AGV35859 Cover Mount

5AGV30100 Frame Movable

5AGV25100 Frame Movable

5AGV35100 Frame Movable

5AGV35810 Plate For Lifting

5AGB30804 Top Link Side Plate

4AGBH0109 Hex Bolt M6x12 FT

4AGBH0015 Hex Bolt M10x25 FT

4AGBH0110 Hex Bolt M12x45 HT

4AGBFH015 Hex Bolt M16x80 HT

4AGBH075 Sq Neck Bolt M8x25 FT

4AGBH0108 Plain washer M6x15x1 Y

4AGB70018 Attachment Bracket Stud

4AGBH075

5AGV25859

5AGV30100

5AGV25100

5AGV35100

5AGV30859

5AGV35859

5AGB30804

5AGV35810

4AGB70018

4AGBH0109

4AGBH0108

4AGBH0034

4AGBH0110

4AGBH0015

4AGBFH015

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

JAWAN 122 
2.5FT

JAWAN 1220 
3FT

JAWAN 266 
3.5FT

JAWAN 1220 3FT

JAWAN 122 
2.5FT

JAWAN 266 
3.5FT



Lakshmi Envirotech Systems Pvt Ltd
Jawan Baler Price List(2023-2024)

S.No Din No Item Name Image Drawing No Model

74

72

78

79

75

67

73

77

68

69

70

65

66

71

76

80

81

79

86

87

85

80

74

77

75

76

78

82

72

73

88

81A

4AGB10042 Wheel Drum

4AGB10033 Main Wheel Axel

5AGB30827 Conveyor For Bale

4AGBH0064 Spring Washer M8

4AGBH0008 Hex Bolt M8x55 HT

4AGBH0063 Spring Washer M10

4AGBH0074 Plain Washer
M10x21x3

4AGBH0042 Hex Nylon Lock Nut M12

4AGBH0076 Plain Washer M8x15x1.5

4AGBH0067 Square Neck Bolt
M8x20 FT

4AGBH0113 Plain Washer
M12x35x2.5

4AGBH0043 Hex Nylon Lock Nut M16x2

4AGB70035A Spring Conveyor For

Bale 2mm Thk

4AGB10039 Bkt Tyre TL LG Rib 16x6.50
8x10Pr

4AGB10033

5AGB30827

4AGB70035

5AGB10039

4AGB10042

4AGB10039

4AGBH0043

4AGBH0042

4AGBH0067

4AGBH0076

4AGBH0008

4AGBH0074

4AGBH0113

4AGBH0064

4AGBH0063

4AGB70035A

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

4AGB70035 Spring Conveyor For Bale 

1.5mm Thk

5AGB10039 Tueless Tyre With Rim 
Assemly



Lakshmi Envirotech Systems Pvt Ltd
Jawan Baler Price List(2023-2024)

S.No Din No Item Name Image Drawing No Model

82

85

81

86

83

84

89

87

88

96

90

91

92

93

94

95

90

93

94

89

97

95

96

91

92

98

99

104

101

102

103

100

4AGB50005 Pinion

4AGB50007 Spline Shaft

5AGV35503 AS Housing Lh

5AGV25503 AS Housing Lh

5AGV30503 AS Housing Lh

5AGV35502 AS Housing Rh

5AGV25502 AS Housing Rh

5AGV30502 AS Housing Rh

4AGBBR019 Bearing 6205 2Rs

4AGBH0101 Hex Bolt M12x80 HT

4AGBH0038 Hex Nylon Lock Nut M8

4AGBH0132 Plain Washer M12x22x3

4AGBH0042 Hex Nylon Lock Nut M12

4AGBH0040 Hex Nylon Lock Nut M14

4AGBH0076 Plain Washer M8x15x1.5

4AGBH0168 Plain Washer M14x28x2.5

4AGB50005

4AGB50007

4AGBH0042

4AGBH0040

4AGBH0038

4AGBH0101

4AGBH0076

4AGBH0132

4AGBH0168

4AGBBR019

5AGV35502 AS

5AGV25502 AS

5AGV35503 AS

5AGV25503 AS

5AGV30503 AS

5AGV30502 AS

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

JAWAN 1220 
3FT

JAWAN 122 
2.5FT

JAWAN 266 
3.5FT

JAWAN 1220 
3FT

JAWAN 122 
2.5FT

JAWAN 266 
3.5FT



Lakshmi Envirotech Systems Pvt Ltd
Jawan Baler Price List(2023-2024)

S.No Din No Item Name Image Drawing No Model

98

97

99

104

109

110

101

102

100

103

112

105

108

111

106

107

112

117

118

109

106

107

105

110

108

111

120

113

116

119

114

115

4AGB50004 Crown

5AGV35892 C Spacer

4AGB50008 Key 6x6x25

4AGB50021 Drive Flange

4AGBS0027 Gasket 1mm

5AGV35510 Main Shaft Long

5AGV30510 Main Shaft Long

5AGV25510 Main Shaft Long

4AGBS0020 Oil Seal 25x52x7

4AGB50020 Chain Wheel 16T

5AGV35886A Special Washer
35x25.5x1

4AGBS0037 Oil Drain Plug 3/8

4AGBS0038 Oil Filling Cap 1/2

5AGV30501-1 Baler GB Center

4AGBH0015 Hex Bolt M10x25 FT

4AGBH0019 Hex Bolt M10x55 HT

5AGV35510

5AGV30510

5AGV25510

4AGB50004

4AGB50008

5AGV35892

4AGB50020

4AGB50021

4AGBS0038

4AGBS0037

4AGBS0027

4AGBS0020

4AGBH0019

4AGBH0015

5AGV35886A

5AGV30501-1

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

JAWAN 266
3.5FT

JAWAN 1220 
3FT

JAWAN122 
2.5FT



Lakshmi Envirotech Systems Pvt Ltd
Jawan Baler Price List(2023-2024)

S.No Din No Item Name Image Drawing No Model

118

128

121

126

119

120

115

127

116

117

124

125

114

123

122

113

126

136

129

134

127

128

123

124

135

122

125

132

133

131

130

121

4AGBS0019 Circlip B62

4AGBS0017 Circlip A25

4AGBH0034 Hex Nut M8

4AGBS0020 Oil Seal 25x52x7

4AGBS0023 Oil Seal 35x62x7

4AGBBR002 Bearing 6305 2Rs

4AGBBR004 Bearing 6304 2Rs

11AGRIB01 Hex Bolt M8x40 HT

4AGBH0063 Spring Washer M10

4AGBBR005A Bearing 6007 2Rs

4AGBH0031A Hex Bolt M6x30 HT

4AGBH0041 Hex Nylon Lock Nut M6

4AGBH0074 Plain Washer M10x21x3

4AGBH0039 Hex Nylon Lock Nut M10

4AGBH0016 Flange Hex Bolt
M10x35 FT

4AGBS0008 Grease Nipple M6 Straight

11AGRIB01

4AGBS0019

4AGBS0017

4AGBS0020

4AGBS0023

4AGBS0008

4AGBH0039

4AGBH0016

4AGBH0034

4AGBH0041

4AGBH0074

4AGBH0063

4AGBBR002

4AGBBR004

4AGBH0031A

4AGBBR005A

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL



Lakshmi Envirotech Systems Pvt Ltd
Jawan Baler Price List(2023-2024)

S.No Din No Item Name Image Drawing No Model

142

143

140

136

141

144

137

130

129

131

138

139

133

135

132

134

147

145

148

149

146

138

137

140

142

144

141

143

148A

148B

146A

146B

4AGB20003 Spacer A

4AGB00051 Sprocket 43T

4AGBIGB001 Igludur Bush 1

4AGBIGB002 Igludur Bush 2

4AGB00079 Banjo Washer 3/8

4AGBW001 Nord Washer M10

4AGBBR006 Bearing 6206 2Rs

4AGBH0171 Nord Washer M12

4AGBH0064 Spring Washer M8

4AGBH0018A Hex Bolt M10x50 HT

4AGB20001 Chain Wheel 22T Short

4AGB20002 Chain Wheel 22T Long

4AGBH0132 Plain Washer M12x22x3

4AGBH0042 Hex Nylon Lock Nut M12

4AGB20002A Chain Wheel 22T Short 30 Dia

4AGBIB001

4AGBIB002

4AGBW 001

4AGB20003

4AGB20001

4AGB00079

4AGB00051

4AGB20002

4AGBH0042

4AGBH0171

4AGBH0132

4AGBH0064

4AGB20002B

4AGB20002A

4AGBBR006

4AGBH0018A

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

4AGB20002B Chain Wheel 22T Long 25 
Dia



Lakshmi Envirotech Systems Pvt Ltd
Jawan Baler Price List(2023-2024)

S.No Din No Item Name Image Drawing No Model

148

152

155

156

145

159

146

147

150

151

157

149

153

154

160

158

153

157

150

160

151

152

155

156

159

154

158

158C

158B

158A

160A

159A

5AGB35822 Roller Type 1

5AGB30822 Roller Type 1

4AGB20013 Pivot Flange Lh

4AGB20014 Pivot Flange Rh

5AGV35886A Special Washer
35x25.5x1

5AGB35822P Roller Type 1 Pipe

5AGB30822P Roller Type 1 Pipe

MAB0PL0017-00 Spacer 1 Roller 4

MAB0PL0018-00 Spacer 2 Roller 2 

10mm

4AGB20004 Spacer 4 Splined Roller

4AGB20012A Bearing Flange Cs205

5AGV35887 Special Washer 40x17x4

5AGB30830 Roller Cup Left Assembly

5AGB30829 Roller Cup Right Assembly

5AGV35890 Bearing Flange For
Splined Roller

5AGB35822

5AGB30822

4AGB20004

5AGB30830

5AGB30829

5AGV35890

4AGB20013

5AGV35887

4AGB20014

5AGB35822P

5AGB30822P

4AGB20012A

5AGV35886A

MAB0PL0017-00

MAB0PL0019-00

MAB0PL0018-00

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

JAWAN 1220 
3FT

JAWAN 266 
3.5FT

JAWAN 266 
3.5FT

JAWAN 1220 
3FT

MAB0PL0019-00 Spacer 2 Roller 2 16mm



Lakshmi Envirotech Systems Pvt Ltd
Jawan Baler Price List(2023-2024)

S.No Din No Item Name Image Drawing No Model

175

172

176

170

174

173

162

165

169

168

171

166

163

164

167

161

166

165

168

169

162

163

167

164

161

164A

166A

163A

162A

162B

165A

163B

5AGB35823 Roller Type 3

5AGB30823 Roller Type 3

5AGB30825 Roller Type 2

5AGB35825 Roller Type 2

5AGB25823 Roller Type 3

5AGB25825 Roller Type 2

5AGB25822 Roller Type 1

5AGB30825P Roller Typ-2 Pipe

5AGB35823P Roller Type 3 Pipe

5AGB30823P Roller Type 3 Pipe

5AGB35825P Roller Type 2 Pipe

5AGB35825A Roller Type 2 25Dia

5AGB30825A Roller Type 2 25Dia

5AGB35824 Roller Type 4 Splined

5AGB25824A Roller Type 4 25Dia

5AGB25825A Roller Type 2 25 Dia

5AGB35824

5AGB35823

5AGB30823

5AGB30825

5AGB35825

5AGB25823

5AGB25825

5AGB25822

5AGB30825P

5AGB25825A

5AGB35823P

5AGB30823P

5AGB35825A

5AGB30825A

5AGB35825P

5AGB25824A

JAWAN 122

JAWAN 122

JAWAN 122

JAWAN 122

JAWAN 122

JAWAN 266
3.5 FT

JAWAN 1220
3 FT

JAWAN 1220 
3 FT

JAWAN 1220
3 FT

JAWAN 1220 
3 FT

JAWAN 1220 
3 FT

JAWAN 266 
3.5 FT

JAWAN 266 
3.5FT

JAWAN 266 
3.5FT

JAWAN 266
3.5 FT

JAWAN 266
3.5 FT



Lakshmi Envirotech Systems Pvt Ltd
Jawan Baler Price List(2023-2024)

S.No Din No Item Name Image Drawing No Model

184

185

187

191

186

190

192

182

179

183

178

180

177

181

189

188

172

173

175

179

174

170

178

180

171

177

176

170C

169B

170A

169A

170B

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

JAWAN 1220
3FT

JAWAN 1220 
3FT

JAWAN 1220 
3FT

JAWAN 122

JAWAN 1220
3FT

JAWAN 1220 
3FT

JAWAN 1220 
3FT

4AGBS0019 Circlip B62

4AGBS0017 Circlip A25

4AGBBR018 Bearing 2206 2Rs

4AGBH0064 Spring Washer M8

4AGBFH004 Hex Bolt M8x30 FT

4AGBFH002 Hex Bolt M8x20 FT

5AGB30824P Roller Type 4 Pipe

4AGBBR007 Bearing Cs 205 2Rs

5AGB30824A Roller Type 4 25Dia

5AGB30824 Roller Type 4 Splined

5AGB25824 Roller Type 4 Splined

5AGB30824B Roller Type 4 CS 206

5AGB25824B Roller Type 4 CS 206

4AGBH0076 Plain Washer M8x15x1.5

4AGBH0052 S Head Csk Screw M8x25 FT

4AGBH0043A Hex Nylon Lock Nut 

M16x1.5

5AGB30824

5AGB25824

4AGBS0019

4AGBS0017

4AGBH0052

4AGBH0076

4AGBH0064

4AGBFH004

4AGBFH002

5AGB30824A

5AGB30824P

4AGBBR018

4AGBBR007

4AGBH0043A

The linked image cannot be displayed. The file may have been moved, renamed, or deleted. Verify that the linkpoints to the correct file and location.



Lakshmi Envirotech Systems Pvt Ltd
Jawan Baler Price List(2023-2024)

S.No Din No Item Name Image Drawing No Model

196

197

195

194

193

207

200

201

205

206

198

199

202

204

203

208

184

185

183

182

181

194

187

188

192

193

186

189

191

190

195

185A

4AGB00007B Idler Roller

4AGBSP001 Split Pin 3x26

4AGB70019 Collar For Spring

4AGBH0064 Spring Washer M8

4AGB30024 Rod Idler Adjustment

4AGB35024 Rod Idler Adjustment

4AGBFH003A Hex Bolt M8x25 FT

5AGB30806 Plate Chain Tensioner

4AGB00014 Chain Tensioner Spring

4AGBIGB004 Igludur Bush Black Big

4AGBH0074 Plain Washer M10x21x3

4AGBH0039 Hex Nylon Lock Nut M10

4AGBH0076 Plain Washer M8x15x1.5

5AGB30703 Bracket Chain Tensioner

Bottom

5AGB30702 Bracket Chain Tensioner 

Top

5AGBH0164 Special Washer 30x21x1.5

4AGB30024

4AGB35024

4AGB70019

4AGB00014

5AGB30806

5AGB30703

5AGB30702

4AGBH0039

5AGBH0164

4AGBH0076

4AGBH0074

4AGBH0064

4AGBSP001

4AGB00007B

4AGBFH003A

4AGBIGB004

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

JAWAN 1220
3FT

JAWAN 266 
3.5 FT



Lakshmi Envirotech Systems Pvt Ltd
Jawan Baler Price List(2023-2024)

S.No Din No Item Name Image Drawing No Model

215

216

213

214

212

211

221

222

223

224

218

220

219

210

217

209

201

202

199

200

198

207

210

212

204

197

205

203

196

198A

212A

205A

4AGB60015 Spocks

4AGBS0016 Circlip A17

4AGB60020 Guide Plate

4AGB70028A Pivot Shaft

5AGB30606 Guide Strips

4AGB10013 Chasis Pin 7

4AGBSP002 Split Pin 3x18

4AGB60020A Guide Plate (Old)

4AGBBR017A Bearing 6303 2Rs

5AGB30608 Reel Cover Side Plate

4AGB00020A Roller Chain Renold 2.4- 73L

Movable 50H 146P

4AGB00016B Roller Chain Renold 2.4 

R50 72L Fixed

4AGB00016A Roller Chain Renold 2.4-

86L Fixed Frame R50H 172P

4AGB00016D Roller Chain Renold 2.4 

63L Movable R50H 128P

4AGB00016C Roller Chain Renold 2.4 

R50 21L Connecting

4AGB30024A Rod Idler Adjustment 

Front

5AGB30608

4AGB10013

4AGB60020

5AGB30606

4AGB60015

4AGBS0016

4AGB00016D

4AGB00016C

4AGBSP002

4AGB30024A

4AGB00016A

4AGB60020A

4AGB00016B

4AGB00020A

4AGB70028A

4AGBBR017A

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

JAWAN 1220
3FT

JAWAN 1220
3FT

JAWAN 266 
3.5 FT



Lakshmi Envirotech Systems Pvt Ltd
Jawan Baler Price List(2023-2024)

S.No Din No Item Name Image Drawing No Model

233

230

229

231

227

228

232

226

234

235

225

236

237

238

239

240

221

218

217

219

215

216

220

214

222

223

213

224

225

226

227

228

4AGB60021 Nylon Bush

5AGB60601-2 Support Plate

5AGV25629 Main Shaft Reel

5AGV30629 Main Shaft Reel

5AGV35629 Main Shaft Reel

5AGB30604 Reel Main Bracket

5AGB35604 Reel Main Bracket

5AGB25604 Reel Main Bracket

5AGB30602-8 Inspection Cover

4AGB00084 Reel Cover Rubber Grommet

5AGV35871 Special Wsher 60x43x3

5AGV35873 Special Washer 46x35x1

5AGV35886 Special Washer 40x25x3

5AGV35872 Special Washer
60X43X2

5AGB30602 AS Reel Cover Housing Lh

5AGBH0164 Special Washer 30x21x1.5

5AGB30604

5AGB35604

5AGV25629

5AGV30629

5AGV35629

5AGB25604

5AGV35872

4AGB60021

4AGB00084

5AGV35871

5AGV35873

5AGV35886

5AGBH0164

5AGB60601-2

5AGB30602 AS

5AGB30602-08 ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

JAWAN 2.5ft

JAWAN 1220
3FT

JAWAN 266 
3.5 FT

JAWAN 122 
2.5FT

JAWAN 1220
3FT

JAWAN 266 
3.5 FT



Lakshmi Envirotech Systems Pvt Ltd
Jawan Baler Price List(2023-2024)

S.No Din No Item Name Image Drawing No Model

251

249

244

243

242

255

256

253

252

248

250

254

241

247

245

246

239

237

232

231

230

243

244

241

240

236

238

242

229

235

233

234

4AGBH0034 Hex Nut M8

4AGBFH002 Hex Bolt M8x20 FT

5AGB30601 AS Shaft For Pickup
Spocks

5AGB35601 AS Shaft For Pickup 
Spocks

5AGB25601 AS Shaft For Pickup 
Spocks

4AGBH0122 Hex Bolt M10x60 HT

5AGB25605 AS Protective Spocks

5AGB30605 AS Protective Spocks

5AGB35605 AS Protective Spocks

4AGBH0038 Hex Nylon Lock Nut M8

4AGBH0074 Plain Washer M10x21x3

4AGBH0039 Hex Nylon Lock Nut M10

4AGBH0076 Plain Washer M8x15x1.5

4AGBH0008A Flange Hex Bolt M8x55 HT

5AGB30603 AS Reel Cover Housing Rh

4AGBH0045 S Head CSK Screw M8x20 FT

4AGBH0039

4AGBH0038

4AGBH0034

4AGBH0045

4AGBH0122

4AGBH0076

4AGBH0074

4AGBFH002

4AGBH0008A

5AGB25605 AS

5AGB35605 AS

5AGB30603 AS

5AGB30601 AS

5AGB35601 AS

5AGB25601 AS

5AGB30605-AS

JAWAN 122

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

JAWAN 1220
3 FT

JAWAN 266 
3.5 FT

JAWAN 122 
2.5FT

JAWAN 1220
3 FT

JAWAN 266 
3.5 FT



Lakshmi Envirotech Systems Pvt Ltd
Jawan Baler Price List(2023-2024)

S.No Din No Item Name Image Drawing No Model

272

267

268

263

270

271

265

257

258

264

266

269

261

262

260

259

260

255

256

251

245

246

258

259

253

252

254

257

249

250

248

247

4AGBS0013 Circlip A12

4AGBS0049 R Clip 3x76

4AGB00007B Idler Roller

4AGB70003 Bearing Cap

4AGBS0041 D Shackel M8

4AGBSP004 Split Pin 5x46

4AGBSP003 Split Pin 4x25

4AGBH0064 Spring Washer M8

4AGBCH004 Dog Chin 18 Links

4AGBH0124 Hex Bolt M8x16 FT

4AGBH0060 Spring Washer M16

4AGBCH003 Dog Chain 25 Links

4AGBBR023 Bearing 6201- 2rs/Lr201

5AGV35886 Special Washer 40x25x3

5AGV35887 Special Washer 40x17x4

4AGBFH003 Flange Hex Bolt M8x25 FT

4AGB70003

5AGV35886

5AGV35887

4AGBS0013

4AGBS0041

4AGBS0049

4AGBH0124

4AGBH0060

4AGBH0064

4AGBSP004

4AGBSP003

4AGBFH003

4AGB00007B

4AGBBR023

4AGBCH003

4AGBCH004

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL



Lakshmi Envirotech Systems Pvt Ltd
Jawan Baler Price List(2023-2024)

S.No Din No Item Name Image Drawing No Model

288

274

277

273

276

279

283

286

281

282

275

280

287

285

278

284

275

262

265

267

261

264

270

273

268

269

263

274

272

266

271

267A

5AGB30807 Lock Plate

4AGB70047 Square Nut

4AGB70015 Clutch Plate

4AGB20004A Tensioner Bush

5AGB30608-1 Flange For Clutch

4AGB70049 Flange Intermediate

4AGB10028 Reel Extension Spring

4AGB70045 Bearing Flange Plf 204

4AGB70046 Bearing Flange Plf 205

4AGB70022 Bearing Flange Plf 206

11AGRI0123 End Yoke Pin M10x40

4AGB70005 Clutch Assembly Spring

11AGRI0115 End Yoke Fork M10x40

4AGV70001 Sprocket 18 Teeth 30 Dia

4AGB00041 Reel Tensioner Eye Bolt M10

4AGV70001A Sprocket 18 Teeth 25 Dia

5AGB30807

4AGB70045

4AGB70046

4AGB70022

4AGB70005

4AGV70001

4AGB10028

4AGB70049

4AGB70015

4AGB70047

4AGB00041

4AGV70001A

4AGB20004A

11AGRI0123

11AGRI0115

5AGB30608-1

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL



Lakshmi Envirotech Systems Pvt Ltd
Jawan Baler Price List(2023-2024)

S.No Din No Item Name Image Drawing No Model

304

289

292

302

295

298

290

291

293

300

299

301

297

303

294

296

289

276

287

280

283

277

278

285

284

286

282

279

288

281

277B

277A

4AGB30028 Pull Rod

4AGB35028B Pull Rod

5AGB30815 Safety Cover Lh

5AGB40003 Bracket For Lock

5AGV35877A Special Washer
40x30.5x3

4AGB00084 Reel Cover Rubber
Grommet

4AGBH0013 Hex Bolt M10x20 FT

4AGBFH016 Flange Hex Nut M10

4AGBH0025 Hex Bolt M12x40 HT

4AGBFH019 Hex Bolt M10x70 HT

4AGBH0043A Hex Nylon Lock Nut M16x1.5

4AGB70017 Sprocket Assy 32 Teeth

4AGBH0039 Hex Nylon Lock Nut M10

5AGB30839 Special Washer 30x20.5x1

5AGV35877 Special Washer 40x30.5x1

4AGBFH003 Flange Hex Bolt M8x25 FT

4AGB30028

5AGB40003

5AGB30815

4AGB00084

5AGB30839

5AGV35877

4AGB70017

4AGBH0039

4AGBH0025

4AGBH0013

4AGBFH019

4AGBFH016

4AGBFH003

4AGB35028B

5AGV35877A

4AGBH0043A

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

JAWAN 266
3.5 FT

JAWAN 1220 
3 FT



Lakshmi Envirotech Systems Pvt Ltd
Jawan Baler Price List(2023-2024)

S.No Din No Item Name Image Drawing No Model

320

310

311

312

306

307

308

309

315

318

316

317

319

305

314

313

305

295

296

297

291

292

293

294

300

303

301

302

304

290

299

298

4AGBSP001 Split Pin 3x26

4AGBSP002 Split Pin 3x18

4AGBPK001 Door Knob M8

4AGBH0064 Spring Washer M8

4AGBBR017A Bearing 6303 2Rs

4AGBBR012A Bearing 6203 2Rs

4AGBH0063 Spring Washer M10

4AGBH0062 Spring Washer M12

4AGBBR007 Bearing Cs 205 2Rs

4AGBBR008 Bearing Cs 204 2Rs

4AGBH0125 Hex Castle Nut M20x1.5

4AGBH0074 Plain Washer M10x21x3

4AGBH0132 Plain Washer M12x22x3

4AGBH0128 Plain Washer M20x37x3

4AGBH0076 Plain Washer M8x15x1.5

4AGBRC004 Roller Chain Renold 2.4
R50 29L Clutch

4AGBH0125

4AGBH0076

4AGBH0074

4AGBH0132

4AGBH0128

4AGBH0063

4AGBH0062

4AGBH0064

4AGBSP001

4AGBSP002

4AGBPK001

4AGBBR007

4AGBBR008

4AGBRC004

4AGBBR017A

4AGBBR012A

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL



Lakshmi Envirotech Systems Pvt Ltd
Jawan Baler Price List(2023-2024)

S.No Din No Item Name Image Drawing No Model

330

329

335

326

333

325

327

331

332

334

336

324

323

328

321

322

315

314

320

311

318

310

312

316

317

319

321

309

308

313

306

307

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

4AGB30038 Cam

5AGB30028 Tie Rod

5AGB30307 Retainer

5AGB30306 Angle Bracket

4AGB30021 Bearing Pulley

4AGBH0066 Spring Washer M20

4AGBBR009 Bearing Cs 206 2Rs

4AGBH0129 Hex Bolt M10x45 FT

4AGBH0013 Hex Bolt M10x20 FT

4AGBH0014 Hex Bolt M10x30 FT

11AGRI0125 End Yoke Pin M8x32

11AGRI0119 End Yoke Fork M8x32

4AGB30019 Twine Tension
Bracket Spring

4AGB30018 Pivot Bracket Pull Spring

4AGBH0074 Plain Washer M10x21x3

4AGBH0132 Plain Washer M12x22x3

4AGB30038

4AGB30018

4AGB30021

5AGB30028

5AGB30306

5AGB30307

4AGB30019

4AGBH0074

4AGBH0132

4AGBH0066

4AGBH0129

4AGBH0013

4AGBH0014

4AGBBR009

11AGRI0125

11AGRI0119



Lakshmi Envirotech Systems Pvt Ltd
Jawan Baler Price List(2023-2024)

338

339

342

345

341

350

348

349

347

337

340

343

346

344

352

351

323

324

326

329

325

334

332

333

331

322

327

330

328

336

335

324A

S.No Din No Item Name Image Drawing No Model

4AGBS0017 Circlip A25

4AGBH0034 Hex Nut M8

4AGBSP002 Split Pin 3x18

5AGB30305 Push Rod Assy

4AGBH0064 Spring Washer M8

4AGBFH004 Hex Bolt M8x30 FT

4AGBH0002 Hex Bolt M6x50 HT

5AGB30302 AS Sub Bracket Bush Assembly

5AGB30303 AS Link Bracket Bush 
Assembly

5AGB30304 AS Pivot Bracket
Bush Assembly

5AGB30301 Main Bracket Assembly

4AGBH0041 Hex Nylon Lock Nut M6

4AGB40016 Plain Washer M6x13x1.5

4AGBH0076 Plain Washer M8x15x1.5

4AGBIGB005 Igludur Bush Black Small

4AGBH0133 S Head CSK Screw M6x16 FT

5AGB30305

5AGB30301

4AGB40016

4AGBS0017

4AGBH0041

4AGBH0034

4AGBH0133

4AGBH0076

4AGBH0002

4AGBH0064

4AGBSP002

4AGBFH004

4AGBIGB005

5AGB30302 AS

5AGB30303 AS

5AGB30304 AS

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL



Lakshmi Envirotech Systems Pvt Ltd
Jawan Baler Price List(2023-2024)

S.No Din No Item Name Image Drawing No Model

355

367

368

357

358

353

354

362

363

359

361

356

364

360

366

365

339

351

352

342

341

337

338

346

347

343

345

340

348

344

350

349

4AGB70014 Clevis Pin

4AGV70018 Limit Sleeve

4AGB30021 Bearing Pulley

4AGBDS001 Locating Bush

4AGB40009 Rubber Damper

4AGBBR020 Bearing 628 2z

4AGBIGB003 Igludur Bush 3

5AGB30402 Pivot Bracket Arm

4AGBBR010 Bearing 6005 2Rs

5AGB30308 Holder For Damper

4AGBH0011 Hex Bolt M8x75 HT

4AGB40022 Twine Feeder Torsion Spring

4AGB40028 Arm Support Extension 

Spring H- 1

4AGBH0136 Plain Washer M8x24x2Y

4AGBBR015 Bearing Hf 2520 B (One Direction
Rotation)

4AGBFH003 Flange Hex Bolt M8x25 FT

5AGB30402

4AGB70014

4AGB30021

4AGV70018

4AGB40009

5AGB30308

4AGB40022

4AGB40028

4AGBH0011

4AGBH0136

4AGBFH003

4AGBBR015

4AGBDS001

4AGBBR010

4AGBBR020

4AGBIGB003

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL



Lakshmi Envirotech Systems Pvt Ltd
Jawan Baler Price List(2023-2024)

S.No Din No Item Name Image Drawing No Model

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

369

370

372

377

379

383

384

371

373

374

375

376

382

378

380

381

353

354

356

361

363

367

368

355

357

358

359

360

366

362

364

365

4AGB00097B Blade

4AGB40038 Nylon Pad

4AGB40008 Rubber Pad

5AGB30805 Spacer Plate

4AGB40029 Eye Bolt M8x80

5AGB30403 Twine Swing Bracket

5AGV25408 Swing Arm Assembly

5AGV30408 Swing Arm Assembly

5AGV35408 Swing Arm Assembly

5AGV35868 Sensor Mounting Bracket

4AGB40027 Arm Support Extension
Spring H- 2 (2mm Thk)

4AGB40027A Arm Support Extension 
Spring H- 2 (1.5mm Thk)

5AGB30309 Connecting Arm Assembly

5AGB30405 Coupler Bracket Assembly

5AGV35878 Special Washer 30x17x1.2

4AGB40034 Twine Feeder
Compression Spring

5AGV25408

5AGV30408

5AGV35408

4AGB40038

4AGB40008

4AGB40029

5AGB30403

4AGB40027

5AGB30309

5AGB30805

5AGV35868

5AGV35878

5AGB30405

4AGB40034

4AGB40027A

4AGB00097B

JAWAN 1220
3 FT

JAWAN 266 
3.5 FT

JAWAN 122 

2.5 FT

JAWAN 1220
3 FT

JAWAN 266 

3.5 FT



Lakshmi Envirotech Systems Pvt Ltd
Jawan Baler Price List(2023-2024)

S.No Din No Item Name Image Drawing No Model

392

393

394

390

399

398

396

395

400

397

391

389

376

377

378

374

383

382

380

379

381

384

375

373

385

386

387

388

369

370

371

372

4AGBH0034 Hex Nut M8

4AGBFH140 Hex Nut M4

5AGV30820 Twine Bracket Assy

4AGBFH002 Hex Bolt M8x20
FT

5AGB30404 Twine Holding
Plate Assembly

4AGVEL003 Limit Switch -
Straight Lever

5AGV40009 Holder For Blade Assy

4AGBH0038 Hex Nylon Lock Nut M8

4AGBH0041 Hex Nylon Lock Nut M6

4AGBH0139 Hex Nylon Lock Nut M3

5AGV25820 Twine Bracket Assembly

5AGV35820 Twine Bracket Assembly

4AGBHPW001 Plain Washer M4x9x1.5

5AGV30820

5AGV25820

5AGV35820

5AGV40009

5AGB30404

4AGVEL003

4AGBH0038

4AGBH0041

4AGBH0034

4AGBH0139

4AGBH0049

4AGBH0137

4AGBH0138

4AGBFH002

4AGBFH140

4AGBHPW 001

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

JAWAN 1220
3 FT

JAWAN 266 
3.5 FT

JAWAN 122 
2.5 FT

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

4AGBH0049 S Head Csk Screw M8x35 FT

4AGBH0137 Slotted Pan Head Screw 

M3x12 FT

4AGBH0138 Cross Pan Head Screw 

M4x25 FT



Lakshmi Envirotech Systems Pvt Ltd
Jawan Baler Price List(2023-2024)

S.No Din No Item Name Image Drawing No Model

411

414

415

403

409

410

412

401

402

416

413

404

405

406

408

407

396

387

399

400

393

394

385

386

397

388

389

398

390

392

391

400A

4AGBS0012 Circlip A8

4AGBS0013 Circlip A12

4AGBS0015 Circlip A16

4AGBBR020 Bearing 628 2z

4AGBH0001 Hex Bolt M6x20 Ft

4AGBSP008 Spring Pin 6x36 B

4AGBSP015 Spring Pin 5x32 B

4AGBH0064 Spring Washer M8

4AGBFH003A Hex Bolt M8x25 FT

4AGBBR011 Bearing Lr/Cs201 2Rs

4AGBH0079 Plain Washer M8x20x3

4AGBH0166 Plain Washer M3x7x0.5

4AGBH0083 Plain Washer M16x24x3

4AGB40016 Plain Washer M6x13x1.5

4AGBH0076 Plain Washer M8x15x1.5

4AGBH0083A Plain Washer M16x24x1

4AGB40016

4AGBS0013

4AGBS0015

4AGBS0012

4AGBH0001

4AGBH0076

4AGBH0166

4AGBH0083

4AGBH0079

4AGBH0064

4AGBSP008

4AGBSP015

4AGBBR011

4AGBBR020

4AGBH0083A

4AGBFH003A

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL



Lakshmi Envirotech Systems Pvt Ltd
Jawan Baler Price List(2023-2024)

S.No Din No Item Name Image Drawing No Model

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

417

423

432

426

421

424

427

431

425

418

428

430

419

429

420

422

401

407

416

410

405

408

411

415

409

402

412

414

403

413

404

406 4AGB00015 Pivot Bush

4AGB10052 Pivot Bracket

5AGB30834 Indicator Rod

5AGB30708 Bracket Actuator

5AGB30707 Load Bracket Lh

5AGB30706 Load Bracket Rh

4AGV30023 Twine Lever Spring

4AGB00039 Load Bracket Spring

11AGRI0125 End Yoke Pin M8x32

5AGB30704 Assy Lever Bracket Rh

11AGRI0119 End Yoke Fork M8x32

5AGB30802 Bracket Load Indication

5AGB35704A Assy Lever Bracket Lh

4AGB00040 Swing Bracket Pull Spring

4AGB00041 Reel Tensioner Eye
Bolt M10

5AGBH0164 Special Washer 30x21x1.5

4AGB10052

4AGB00040

4AGB00039

4AGV30023

5AGB30802

5AGB30834

4AGB00015

4AGB00041

5AGB30707

5AGB30706

5AGB30708

5AGB30704

5AGBH0164

5AGB35704A

11AGRI0125

11AGRI0119

JAWAN 1220
3 FT



Lakshmi Envirotech Systems Pvt Ltd
Jawan Baler Price List(2023-2024)

S.No Din No Item Name Image Drawing No Model

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

439

433

436

437

447

445

446

443

442

434

435

440

438

441

444

448

423

420

421

417

431

429

430

427

426

418

419

424

422

425

428

432

4AGBH0034 Hex Nut M8

4AGB35833 Actuator Rod

4AGB30833 Actuator Rod

4AGBSP001 Split Pin 3x26

4AGBH0064 Spring Washer M8

5AGB35026 Link Rod Assembly

5AGB30026 Link Rod Assembly

4AGV35023 Twine Lever Spring

4AGBFH004 Hex Bolt M8x30 FT

4AGBH0011 Hex Bolt M8x75 HT

4AGBFH016 Flange Hex Nut M10

4AGBH0038 Hex Nylon Lock Nut M8

4AGBH0074 Plain Washer M10x21x3

4AGBH0039 Hex Nylon Lock Nut M10

4AGBH0076 Plain Washer M8x15x1.5

4AGBH0016 Flange Hex Bolt
M10x35 FT

4AGB35833

4AGB30833

4AGV35023

5AGB35026

5AGB30026

4AGBH0039

4AGBH0038

4AGBH0016

4AGBH0034

4AGBH0076

4AGBH0011

4AGBH0074

4AGBH0064

4AGBSP001

4AGBFH004

4AGBFH016

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

JAWAN 266
3.5 FT

JAWAN 266 
3.5 FT

JAWAN 1220 
3 FT

JAWAN 266 
3.5 FT

JAWAN 1220 
3 FT



Lakshmi Envirotech Systems Pvt Ltd
Jawan Baler Price List(2023-2024)

S.No Din No Item Name Image Drawing No Model

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

463

460

461

451

455

464

458

462

452

454

456

459

453

457

449

450

449

445

447

435

439

450

442

448

436

438

440

443

437

441

433

434

4AGBTM005N Housing

4AGBKY001 Key 5x5x25

4AGBTM001 Worm Shaft

4AGBTM003 Output Shaft

4AGV30001 Plastic Pulley

4AGBTM002 Worm Wheel

4AGBSP002 Split Pin 3x18

4AGBTM004N Bearing Flange

4AGBH0144 Spring Washer M6

4AGBFH002 Hex Bolt M8x20 FT

4AGBH0018A Hex Bolt M10x50 HT

4AGB30004 Twine Binding
Gearbox Assembly

4AGBHF001 Oil Filling Cap Half Inch

4AGBH0143 S Head Cap Screw M8x20 FT

4AGBH0141 Grub Screw S Head M8x10 FT

4AGV30001

4AGB30004

4AGBH0143

4AGBH0141

4AGBH0142

4AGBH0144

4AGBKY001

4AGBSP002

4AGBFH002

4AGBHF001

4AGBTM002

4AGBTM003

4AGBTM001

4AGBH0018A

4AGBTM005N

4AGBTM004N

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

4AGBH0142 S Head Cap Screw M6x16 FT



Lakshmi Envirotech Systems Pvt Ltd
Jawan Baler Price List(2023-2024)

S.No Din No Item Name Image Drawing No Model

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

479

480

477

478

472

466

474

475

465

471

473

476

467

468

469

470

462

458

452

460

461

451

457

459

453

454

455

456

462C

462B

462A

461A

4AGBS0043 Circlip B 47

4AGBCC001 Circlip B 35

4AGB00058 Hydraulic Jack

4AGBOS002 Oil Seal 30x50x7

4AGBBR021 Bearing 6202 2rs

4AGBBPP001 Hydraulic
Pump Mechanical (Bucher)

4AGBOS001 Oil Seal 15X35X7

4AGBBR010 Bearing 6005 2Rs

4AGBH0064 Spring Washer M8

4AGB00058A Hydraulic Seal Kit

4AGBBR012A Bearing 6203 2Rs

4AGB00045 Hyd Pump Boss 6015

4AGBHF003 Rubber End Cap 35mm

4AGB00046 Hyd Distributor
Bucher Valve 1/4

4AGBBPP001A Hydraulic Pump 
Mechanical (Merbok)

4AGBH0076 Plain Washer M8x15x1.5

4AGB00045

4AGB00046

4AGB00058

4AGBS0043

4AGBH0076

4AGBH0064

4AGBHF003

4AGB00058A

4AGBBR021

4AGBBR010

4AGBCC001

4AGBOS001

4AGBOS002

4AGBBR012A

4AGBBPP001

4AGBBPP001A



Lakshmi Envirotech Systems Pvt Ltd
Jawan Baler Price List(2023-2024)

S.No Din No Item Name Image Drawing No Model

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL
485

486

493

494

482

484

496

487

488

489

483

492

490

495

481

491

467

475

476

464

466

478

468

469

470

465

473

471

477

463

472

467A

4AGB00090 Sprocket 9T

5AGBHF007 Dummy Plug 1/4

4AGBH0063 Spring Washer M10

4AGBH0013 Hex Bolt M10x20 FT

4GBBV0001 G1/4 Bspt Ball Valve

4AGB00074C 1/4 Bsp Hex Nipple

02AGR052 1/4 Bsp Swivel Adapter

4AGB00088 Banjo Washer 1/4 Bsp

4AGBHF004 Hyd Hose 1/4 R1 90
Bend/St 1/4 Bsp 1300mm

4AGB35O Hyd Hose Out 1/4 90/90 
1240mm

4AGB00078 G1/4 Bspt Needle Valve

4AGBH0074 Plain Washer M10x21x3

02AGR051 1/4 Bspt Straight Adapter

4AGB00097A Roller Chain
Assembly Hydraulic Pump 27L

4AGBHF006 Male Elbow Connector 3/8

4AGB35O

02AGR052

02AGR051

4AGB00078

4AGB00088

4AGB00090

4GBBV0001

4AGB00074C

4AGBH0167

4AGBH0074

4AGBH0063

4AGBH0013

5AGBHF007

4AGBHF004

4AGBHF006

4AGB00097A

4AGBH0167 Cross Pan Head Screw 
M3x30 FT Snt



Lakshmi Envirotech Systems Pvt Ltd
Jawan Baler Price List(2023-2024)

S.No Din No Item Name Image Drawing No Model

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

512

501

498

502

504

507

508

503

497

499

505

506

511

510

500

509

493

483

480

484

488

489

485

479

481

486

487

492

491

482

490

485A

5AGVHP Drive Shaft

4AGB00090 Sprocket 9T

4AGBKY003 Key 5x5x18

4AGBKY002 Key 5x5x18

4AGBBPP100 Flange For M41

4AGBS0034 Chain Link Full 8B

4AGB00098 Chain Link Half 8B

4AGBH0144 Spring Washer M6

4AGBH0144 Spring Washer M6

4AGBH0148 Hex Bolt M6x16 FT

4AGBH0148 Hex Bolt M6x16 FT

4AGBHF008 Dummy Plug 1/4 S Head

5AGBH0150 Special Washer 6x27x2.5

5AGBH0150 Special Washer 6x27x2.5

4AGBHF009 Pump Din Connector N150

4AGBH0152 S Head Cap Screw M6x42 FT

5AGVHP

4AGB00098

4AGB00090

4AGBS0034

4AGBH0148

4AGBH0148

4AGBH0152

5AGBH0150

5AGBH0150

4AGBH0144

4AGBH0144

4AGBKY003

4AGBKY002

4AGBHF008

4AGBHF009

4AGBBPP100



Lakshmi Envirotech Systems Pvt Ltd
Jawan Baler Price List(2023-2024)

S.No Din No Item Name Image Drawing No Model

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

516

517

519

522

526

528

524

527

520

525

515

518

521

523

513

514

497

498

500

503

507

533

505

508

501

506

496

499

502

504

494

495

4AGBBPP112 Tank 1.0L

4AGBHF007 Air Breather

4AGBBPP108 Suction Filter

4AGBBPP106 O-Ring 105x3

4AGBS0031 Main Door Hinge

4AGBBR022 Bearing 6003 2z

4AGBBPP107 Hydraulic
Pump Ap100/4.3-Mm.59-N.Pa

4AGBBPP111 Pump Cover Block

4AGBBPP101 Vm 01 Relief Valve

4AGBBPP109 Tube Suction 90Deg

4AGBBPP110 S.Head Cap Screw M8
X1.25X90 Ft B12

4AGBHF008 Dummy Plug 1/4 S Head

4AGBBPP103 G 1/4' Bsp Dummy Plug

4AGBBPP102 Block (Cv+Rv+Sv Cavity)

4AGBBPP104 Solenoid Coil For
D.C.V2/2 Cartridge Valve

4AGBBPP105 Valve Stem Assy Without 
Coil (Wr220Ea5-5 12D)

4AGBS0031

4AGBHF008

4AGBHF007

4AGBBR022

4AGBBPP101

4AGBBPP111

4AGBBPP106

4AGBBPP108

4AGBBPP103

4AGBBPP102

4AGBBPP112

4AGBBPP104

4AGBBPP105

4AGBBPP107

4AGBBPP110

4AGBBPP109



Lakshmi Envirotech Systems Pvt Ltd
Jawan Baler Price List(2023-2024)

S.No Din No Item Name Image Drawing No Model

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

529

532

540

539

541

542

543

544

538

536

537

530

533

534

531

535

534

542

541

543

544

545

546

540

538

539

535

537

536

536A

537A

537B

4AGBFH156 Hex Nut M6

4AGBPK001 Door Knob M8

5AGV35813 Intermediate Cover

5AGV30813 Intermediate Cover

5AGB35821 Front Cover Assembly

4AGBH0079 Plain Washer M8x20x3

4AGBH0157 Plain Washer M5x11x1

4AGBH0038 Hex Nylon Lock Nut M8

5AGV30821-2 Front Cover Assembly

4AGBH0039 Hex Nylon Lock Nut M10

4AGBRCC01 Rubber Grommet 38x60

4AGBRCC02 Rubber Grommet 30x45

4AGBPK001N Hand Knob M8-
Baklite (Female)

4AGBH01574A Plain Washer M5x13x3

4AGBFH003 Flange Hex Bolt M8x25 FT

4AGBH0133 S Head CSK Screw M6x16
FT

5AGV35813

5AGV30813

5AGB35821

4AGBH0039

4AGBH0038

4AGBH0133

4AGBH0079

4AGBH0157

4AGBPK001

4AGBFH156

4AGBFH003

4AGBPK001N

4AGBRCC01

4AGBRCC02

5AGV30821-2

4AGBH01574A

JAWAN 1220 
3 FT

JAWAN 266 
3.5FT

JAWAN 1220 
3 FT JAWAN 

122

JAWAN 266 
3.5FT



Lakshmi Envirotech Systems Pvt Ltd
Jawan Baler Price List(2023-2024)

S.No Din No Item Name Image Drawing No Model

560

559

546

555

557

547

551

558

550

554

553

549

548

552

556

545

547

557

548

556

550

552

555

549

551

553

552A

550A

553A

551A

549A

546A

4AGBH0064 Spring Washer M8

4AGBFH002 Hex Bolt M8x20 FT

5AGB35819 Lh Side Rear Cover

5AGB30819 Lh Side Rear Cover

5AGV35817 Lh Side Front Cover

5AGV30817 Lh Side Front Cover

5AGB35818 Rh Side Rear Cover

5AGV35816 Rh Side Front Cover

5AGV30816 Rh Side Front Cover

5AGB30818 RH Side Rear Cover

5AGB35821-2 Guard Main Door 2

5AGB30821-2 Guard Main Door 2

5AGV35814 Cover Plate Assembly

5AGV30814 Cover Plate Assembly

5AGB30821 Front Cover Assembly

4AGBH0076 Plain Washer M8x15x1.5

5AGB35819

5AGB30818

5AGB35818

5AGV35817

5AGB30819

5AGV30817

5AGV35814

5AGV35816

5AGV30816

5AGB30821

5AGV30814

4AGBH0076

4AGBH0064

4AGBFH002

5AGB35821-2

5AGB30821-2

ALL MODEL

ALL MODEL

ALL MODEL

JAWAN 266
3.5FT

JAWAN 266 
3.5FT

JAWAN 1220 
3 FT

JAWAN 266 
3.5FT

JAWAN 1220 
3 FT

JAWAN 1220 
3 FT

JAWAN 266 
3.5FT

JAWAN 1220 
3 FT

JAWAN 266 
3.5FT

JAWAN 266 
3.5FT

JAWAN 1220 
3 FT



Lakshmi Envirotech Systems Pvt Ltd
Jawan Baler Price List(2023-2024)

S.No Din No Item Name Image Drawing No Model

571

568

572

567

561

569

570

563

564

566

562

573

565

631

629

632

619

558

630

560

563

581

559

633

566

629A

4AGVEL002 HORN

5AGB30803 CH Lever

4AGBRF001 Reflector

5AGB30835 Ejector Rod

5AGVPT001 Pto Assembly

4AGB00058 Hydraulic Jack

4AGBPK001 Door Knob M8

4AGBH0118 Hex Bolt M5x15 FT

4AGBS0032 Chain Link Full 10B

4AGBS0050 Bale Counter Analog

4AGBBPP113 Plunger Pin With Spring

5AGV35866 AS Bale Counter Assembly

4AGBH0154 Hex Nylon Lock Nut M5 Snt

5AGB30835

5AGB30803

4AGB00058

4AGVEL002

4AGBS0050

4AGBS0032

4AGBH0154

4AGBH0118

5AGVPT001

4AGBRF001

4AGBPK001

4AGBBPP113

5AGV35866 AS

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL

ALL MODEL


